
POLYTECHNIC ADMISSION TEST-2016 
QUESTION PAPER 

Full Marks : 100 Time: 2 Hours 

2 T 100 6I ATR 13 40 aea eT 41 
9 70 a RO 71-7 100 9T M CI aor 
a AI (9) aAR 1-7 100 aoco aa aR 5:D7 
(a), (b), (c) 

PART I 
MATHEMATICS 

(d) 50 
2. f 1Bat W qdrge ABC 9I A TT LA 

Rgo, BA 7BD 

(a) 36 (b) 450 (c) 600 

HNII ZE WaTRTCAA D 
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(d) 13 
9. O(0,0), A(4, 0), B(0, 10) RUa OAB Y9 RqIfays OAB (a) 9 (b) 18 (c)8 

3. I CfoRIA ABCD 3 78 
(a) 10 sq. units (6)20 sq. units (c)30 sq. units (d)40sq. units D 8crm 

17cm (a) (0, 7) and (0, -8) (b) (-6, 0) and (5, 0) 
(c) (5,6) only 

11. 2M P(x, y) ci A(1, 2) * B(2, 1)R TAZTO), (UTTT 
(a)xy (b) x = Ay (c) Sx= y (d)y= Ax 

12. a5ABC GR RRDI A(O, 6), B(6, 12) C(12, 

8cm 
E 15cm (d) (0, 7), (0,-8) and (5, 6) 

(c) 62 cm (d) 93 cm? 
(b) 124 cm (a) 155 cm2 

4. 901 TOR CTRI, 2 50 T zRT 15cm, 12cm 

4.5cm RO ZATCOK 77 

(a) 603cm 
5. T D TD T5U TRPTA 1570cm' 15cm *RR 

24) 7, COR A T 
(a) (6, 14) 

(6) 24cm (c) 405cm' (d)810cm 

(6) (14,6) (c)(-6, 14) (d) (6,- 14) 
13. 31 A(3,4), B(6,2) q C(6, 4) Z,(IRT: aT (T =3.14) : 

(a) 10cm (b) 12cm (c) 9cm (d) 8.5cm 
(a) A = 4 (6) 2=-4 (c) (d) 2=1 

(c) 100 sq.cm(d) None of (a) 200 sq.cm (b) 90 sq.cm 

the above (eA AD}G RR) 14. P Q ZART tN (at?, 2at) 

1 

S(a, 0) aD1 (OTK SP S0 9 9 
(a) 9 (6)16 () 1 

d) 
AB (a) a (b) 2a 

BD 
8. ABC agTo 4 NZR D ZB = 60° LC = 40 AC DC 

15. x- y-2=0 RIT (1, 3) * (a,1) RTAIAI ART8T 2 

CUA ZBAD = ? 

(6) 60 (a) 30 3 PRTO SI1 PA, (OTAT a =? 

(c) 400 (d) 20° 
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(c)9 (d) 10 
(a) 0 (b) 1 (a) 1 

22. tan 10 tan 20 tan 30 
(b) 2 (c) 4 

tan 890 A 
16. at 0= 45° (UTR (d) 3 

1+cot 09 
1+ tan (a) 0 (b) 2 (c) 1 () 

(b)-1 (c)1 (d) 23. 3 cosec (A - 20) = sec 4A, TT 4A <90° COTR LA =? (a) 0 
(a) 300 

24. Sec? 55- cot? 350 =? 
(b) 220 (c 60° (d) 450 

17. ABC 7 A= 90°, ZB = 60° AB = 1 8cm, (OA( 

(a)-1 
25. sin (A+ 66°) = cos A T A< 90° COTRTT A =? 

(a) 0 

CA=? (b) 0 () (d) sec 35 
1 

, (a) 6/3cm (b) 83 (c) 18/3 (d) 183 (6) 40 (c).220 (d) 120

26. 3 p(x) =x* -5/3x +Sy3 (9RA psa=? cos A +Sin A 18. aa tanA=, (OTRG cos A-sin A (b) 35 (c).53 
27. T x+y+z=0, (OTTA, x+y +3xyz = ? 

(c)2 

(a) 0 (d)-1 

X-y 
(b-y (c) (C)-r (a)+x (a)-1 

28. 1 x +y+z=1xy + yz +zx=3, qAR x* +y +z'- 

(a) (6) 1 (d)0 +y +x 

19. a x = a sin A+b cos A y =a cos A - b sin A (OZTA 
3xyz=? (a) a +b 

20. 1 sec A -tan Aqm 

(6) a' + b (c) a + b (d) a +b 

(a) 8 (b) 2 (c)-8 ) 
sec A +tan A = n,(OTAQ T mn = ? 

(b-1 29. -(V2 +3/2 )x+6=0 z bK H 01 CRTR (a) I (c) 0 )2 (a)2.3/2 (b)-2.3/ (),2.2 (d) .2 
'1SinA-cos' A+I 21. 

sins A 30. A3 It TCi x2 - 8x + = 0 *T4R YTA U 
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(c) A< 16 (d) = 100 
(a) = 16 (b) > 16 

8 21 10 16 7 a-80 3Y. a2= 64, CER,16 
38. 1 3(2a+3 3a+2 3 2a+38 3a +28 =1 

16 
3a+287 AZI8 

(c) 1 ) 3 13 (a) 
(a) 4 (b) 2 

47 
6) 13 (d) 7 

&n2 x-2 

9 1 

(b)2 (c)2 (d) 0 
8 18 

(a) 9 (b) (d17 33. . HI. 3 (x, y) =x x y, COTT AA. ® (x, y) 

40. aR 7, 8, a, 10, b, 163 M 11 , ORa: 
(a) a+b= 15 (a) xy (b) 1 

(b) a-b=25 (c) a+b= 25 (d)agb= 15 
34. p 30 4 *TI 7RUIEAKA AITR 

(c) 212 PART-I (b) 201 (d) 200 (a) 210 

35. 1 7ATA 19T AUN 7 Z 10 A 100 7 50, PHYSICS 
41. q3TOt 18 kmh 36 kmh'i, 5 (RTPYT RNEK As 

(c) 85 (a) 80 

36. 4x+3y= 5 qx +5y=3 AIIA CPIAI HI ÍMR3 

(b) 58 (d) 95 
(b) 20 ms2 (c) 1 ms (d)5 ms? 

(a) 10 ms2 

42. 5 kg TE ADR 8A 2s A aMA 47 9TR RIR|A BE 

(a)-20 (c) 2=2 (d) A = % 7 ms a * COT 
3 

(c) 15N (d) 20N 
(b) 10N 37. 61 tSN AISRPT 10 ARS1 U ef AIR ,r 12 

(a) 5N 

(a) 2, 8 (b) 7,3 (c) 4,6 (d) ePknRe F G 
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(a) 2.1s (b) 2.s 
53.74 A qD *oRT 100 HzI 9 NADoTsI 

(c) 3s (d) 3.1s 
(c)N kg d) GS 

44. 10 kg DR5 ms 23y Y4CII 1 RIED G9RE 
(a) N (b) Nm kg 

(a) 5000 (b) 5500 (c) 6000 (d) 6500 
(c) 50N (d) GAD\e (b) 10N 

45. ga 45 R (SI) GT T78 
(b) ms 

(a) 5N 
(a) 2 Hz (b) 4 Hz (c)0.25 Hz (d) 0.5 Hz 

(c) m's (d) ms2 
46. 100 ms RAA 5 kg DR GRU AI1R 25 

(a) m 
(a) ET 
(c) a b aDR 

(b) a 

(a) 15N (b 20N 

47.901 A10kg|TRTTO RNA G 
(b)890N 

c) 25N (d) 30N 

(a) 89N 

48. S 15 kg 9DI D iE 1.5m 5U N 

(c) 98N (d)980N 
(a) 110m (b) 135m (c) 150m (d) 165m 

57. n 2n RA TDI EI TAUT RT4R1 D 
(a) 200J 

49. 1500 kg 1t q3 36 km h' AC RI SRA 

(b) 225J (c) 250J (d) 275J 

(a) 1:2 (b) 2:1 (c) 4:1 (d) 84 19 

(a) 25000J (b) 50000.J 
50. 10 kgATE4NIG4 I 6m 8 A RZTG TE Ake R Q A : ( g = 9.8 ms) 

(b) 566J 

(c) 75000J (d) 950003J 
(b) 3:1 (c) 1:9 (d) 9:1 (a) 1:3 

59. N R 330 aS |atE 7 A1 330 ./ CR TTA, -
(a) 544J (c) 588J (d) 599J 

)200m (c) 300m MN6R (a) 100m 

60. RA ZTE HE58 

(a) 
(a) mg (b) mgh (c) mv2 (deo D9 (b) T (c) N,G (d) 3T 
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1 2 () 
1 (a)2 (d) 3 

69. 4D o 3 e T -2.5D PD 4A v7 (a) u =v (b) v= 2u (c) u 
= 3v (d) 3u=v 

(a)e FR 6)0 
(a) 00 b) 450 (c) 900 (d) 60 (d) anTC 

4 70. 3 3 e 2 9 AK I IT 7NA 6 ADNI 

(a) 1.2A (b) 2.5A (c) 5A (d) 7.5A 

PART III 
(a) 

8 
(6) (c) 4 

CHEMISTRY 
64. Through a fibre-optic cable light travels by means of 

71. JDA IA 5.50 x 103oC IFa HTE ON 

(a) afoaa 
(c) HTETAIt qaf0a 

b) aoa 
(d) HT1 (a) 5.7 x 10* K (b) 5.80 x 10 K 

(a) 5.752 x 10* K (a) 5.773 x 10 K 

(a) 5 D 

66. 6D AST O 47-1D »AO A NACO 71 75 

(b) 4 D (c)3 D (d) 2 D 
72. FCDTG AÍR TI R? 

(a) 1 gm C0 

(a) 1 gm N, 

(b) 1 gm CH 

(a)1 gm H (a) 60cm (b) 20cm (C) 25cm (d) 1Ocm 

73. 859 G5 51°E 11.2 litre CO, ATI R1 T 

(b) 6.02 x 103 (a) H R (b) 9TDI 
(a) 4 x 6.02 x 1023 

(d) 2 x 6.02 x 1023 
(c)x(6.02 x 10) 
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74. ATDI DRUG U1PN? 
(c) AP (d) Ps* (a) CO (b) CH (a) CH, (b) CO (a) Na (b) Mg 

(a) Rs (b) a («TPA 
85. AE 1 1Uol 

(a) fsDRI (b) T6IT (c) a R1a (d) CPRRRy T 

76. 1pT CRE 4�T R 

(a) TR b) PT RusTTU (c) Arm) (d)aco (a) Cu (b) Fe c) Mg (d) Zn 

86. ATDI C-C 1a �a T0Rusa 
77. 71417 fuEDA sU N1 8 

(a) 0.5 % (b) 0.015 % )0.15% (d) 0.25% (a) CH, b) CH, (c)CH (d) CH 

78. 
(a) He (b) Ne (c) Ar (d) Kr 

(a) CO, b) NO (c) MnO (d) SO, 

(a) HF (b) HCI (c) HBr (d) HI 

(a) MnO, (b) Nickel (c) Glycerol (d) Platinum 

80 
(a) H,SO, + SO, (a) 37 HNO,, NO, a R (b) HNO,. I00°C SEA 

(b) HSO+SO, 
(c) HSO, + H,S (c) 77 HNO,, HCI a1 TE 

(d) 1e R 
d) 7 HNO,, TT A HCI 3:1 TET AEa 

(a) (NH,),S (b) (NH,),S, (c) CO (d) NO 

(c) (NH),S (a) SO (b) CO 
(d) o4 9D1e R 

82 
(a) E (b) 1T e (c) ra (d) T 
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)N,O (d) N,O, 100. s1 AUDI �RUR 4DI ARATTEITT (a) NO, (b) N,O, 
(a) Cu, Zn, W Ni (b) Cu Zn 

(c) Br, (d), (a) F 
93. A T8 

(b) C1, C)Cu, Sn Zn (d) Cu, Sn Ni 

(b) CaSO. 2H,0 
(d) CaSO,.2H,0 

(a) Mgso, 2H,O 
(c) Ca$O, 

(a) Be (b) Mg (c) Ca (d) Ba 

(a) Ata 

(c) HSACUA 
96. 15 RCR 8 

(b) 
(d) (9AVIN (AGTRu 

(b)PP 1 
(d) Pa71 

(a)T755 1 

97. CR FO CRUR 
(a) a 
(c) 91po 

b) Fagrfo 
(d) bg 

(a) 5ot T (b) E 

99. 
(a) 9 (b) 

(d)eA IDTO R 
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PAT 2016 

1. (c) 2. (a) 3. b) 4. (d) 5. (a) 6. (a) 

7. (c) 8. (c) 9. (6) 10. (a) 11. (a) 12. (a) 

13. (a) 14. (d) 15. (c) 16. (c) 17.() 18. (c) 

23. (b) 24. (c) 

29. (a) 30. (c) 

21. (b) 22. (c) 19. (d) 20. (a) 

25. (d) 26. (c) 

31. (a) 32. (a) 

37. (c) 38. (d) 39. (d) 

27. (d) 28. (c) 

33. (b) 34. (a) 35. (c) 36. (c) 

40. (c) 41. (c) 42. (b) 

46. (b) 47. (c) 48. (b) 43. (b) 44. (c) 45. (b) 

49. (c) 50. (c) 51. (b) 
55. (c) 56. (d) 57. (b) 

61. (b) 62. (a) 

67. (c) 68. (b) 

52. (b) 53. (c) 54. (d) 

59. (a) 60. (a) 58. (c) 

63. (a) 64. (c) 

70. (c) 

65. (d) 66. (b) 
71. (d) 72. (a) 69. (a) 
77. (b) 78. (b) 

83. (d) 84. (b) 

90. (b) 

75. (b) 76. (c) 73. (c) 74. (d) 

79. (d) 80. (a) 81. (c) 82. (b) 

87. (c) 88. (b) 89. (a) 
85. (d) 86. (d) 

94. (a) 95. (d) 96. (c) 
93. (b) 91. (a) 92. (c) 

97. (d) 98. (a) 99. (c) 100. (c) 
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